Thursday, 24th September
We use DOES in questions. 








Does he wear a uniform?
We use DOES – DOESN’T to answer questions.



Yes, he does.Does              Positive

Doesn’t            Negative

No, he doesn’t.
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1)   
2)  
He is a …

3)  
4)   
She is a …

5)  
6)   
He is a …

7)  
8)   
He is a …
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Circle the correct answer. Then, write the job.

1) Does he workinthe street?

A-Yes, he does. B-No, he doesn’t.

2) Does he work with animals?

A-Yes, he does. B-No, hedoesn’t.

Helsa ...

3) Does she drive a car?

A- Yes, she does. B- No, she doesn’t.

4) Does she work with computers?

A- Yes, she does. B- No, she doesn’t.

Sheisa...
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5) Does he wear a uniform?

A- Yes, he does. B- No, he doesn’t.
6) Does he work with animals?

A- Yes, he does. B- No, he doesn’t.

Heisa ...

7) Does he wear a uniform?

A- Yes, he does. B- No, he doesn’t

8) Does he work on a farm?
A- Yes, he does. B- No, he doesn’t

Heisa ...





